

Lectured By Dr. H.K. Yadav.

Deptt. of Mathematics, Mardiana College

B.Sc - part - II, paper - III Date - 06-05-2020  
Diff. Calculus (Curvature)

Q.1. For the curve  $s = \sqrt{8ay}$ , prove that

$$\rho = 4a \sqrt{1 - \frac{y}{2a}}$$

Soln: The equation of the curve is  $s = \sqrt{8ay}$  — (I)

Differentiating with respect to  $y$ , we get

$$\frac{ds}{dy} = \sqrt{8a} \times \frac{1}{2\sqrt{y}} = \sqrt{\frac{2a}{y}} = \frac{\sqrt{2a}}{s} + \sqrt{8a} = \frac{4a}{s} \quad [\text{from I}]$$

$$\text{But } \frac{ds}{dy} = \operatorname{cosec} \psi \therefore \operatorname{cosec} \psi = \frac{4a}{s}$$

Differentiating with respect to  $s$ , we get

$$-\operatorname{cosec} \psi \cot \psi \frac{d\psi}{ds} = -\frac{4a}{s^2}$$

$$\text{But } \rho = \frac{ds}{d\psi}$$

$$\therefore \operatorname{cosec} \psi \sqrt{\operatorname{cosec}^2 \psi - 1} \frac{1}{\rho} = \frac{4a}{s^2}$$

$$\text{Hence, } \rho = \frac{s^2}{4a} \times \frac{4a}{s} \sqrt{\frac{16a^2}{s^2} - 1}$$

$$= \sqrt{16a^2 - s^2} = 4a \sqrt{1 - \frac{s^2}{16a^2}}$$

$$= 4a \sqrt{1 - \frac{8ay}{16a^2}} \quad [\text{from I}]$$

$$\rho = 4a \sqrt{1 - \frac{y}{2a}} \quad [\rho \text{ be the radius of curvature}]$$

Q.2. Show that, for the curve  $s = ae^{\frac{y}{c}}$ ,  $\rho = s \sqrt{(s^2 - c^2)}$ , where  $\rho$  stands for the radius of curvature at any point of the curve.

Soln: We have,  $s = ae^{\frac{y}{c}}$  — (I)

Differentiating (I) with respect to  $x$ , we get

$$\frac{ds}{dx} = \frac{a}{e} e^{\frac{x}{c}} = \frac{s}{c} \quad \text{[by I]}$$

But  $\frac{ds}{dx} = \sec \psi \therefore \sec \psi = \frac{s}{c}$  — (II)

Differentiating II with respect to  $s$ , we get

$$\sec \psi \cdot \tan \psi \frac{d\psi}{ds} = \frac{1}{c} \quad \text{--- III}$$

But  $p = \frac{ds}{d\psi}$

$$\therefore \sec \psi \sqrt{\sec^2 \psi - 1} \frac{1}{p} = \frac{1}{c} \quad \text{[from III]}$$

Hence,  $p = s \sqrt{\frac{s^2}{c^2} - 1}$ , [from II]

$$\Rightarrow p = s \sqrt{s^2 - c^2} \quad \text{Proved}$$

Q.3. For the curve,  $y^2 = s^2 + c^2$ , prove that

$$s = c \tan \psi \text{ and } p = \frac{y^2}{c}$$

Soln: We have,  $y^2 = s^2 + c^2$  — (I)

Differentiating w.r. to  $x$ , we get

$$2y \frac{dy}{dx} = 2s \frac{ds}{dx} \therefore y \tan \psi = s \sec \psi$$

i.e.  $y \frac{\sin \psi}{\cos \psi} = \frac{s}{\cos \psi} \therefore \sin \psi = \frac{s}{y}$  — (II)

Now,  $\tan \psi = \frac{\sin \psi}{\cos \psi} = \frac{\sin \psi}{\sqrt{1 - \sin^2 \psi}} = \frac{\frac{s}{y}}{\sqrt{1 - \frac{s^2}{y^2}}} = \frac{s}{\sqrt{y^2 - s^2}} = \frac{s}{\sqrt{c^2}} = \frac{s}{c}$  [by I]

Hence,  $s = c \tan \psi$  — III

Diff. w.r. to  $\psi$ , we get

$$\begin{aligned} \frac{ds}{d\psi} &= c \sec^2 \psi = c (\sqrt{1 + \tan^2 \psi})^2 = c (1 + \tan^2 \psi) = c \left(1 + \frac{s^2}{c^2}\right) \\ &= c \left(\frac{c^2 + s^2}{c^2}\right) = \frac{y^2}{c} \quad \text{[from I]} \end{aligned} \quad \text{[from III]}$$

Hence,  $p = \frac{ds}{d\psi} = \frac{y^2}{c}$  Proved